- Compressed air and power supplies AH C_8O QUiCk I nSta” Guide
K - Min 6 Bar dry and clean air

‘W é - 100-240VAC min 2,1A 50/60Hz
HANDLE
1

Lifting by forklift truck
(and EUR pallets)

|Part 3. Gripper tool

Tighten with 80 Nm torque

Mount with Expander Bolt M16 with embedment
depth 100 mm concrete thickness of 150mm (x4)
Tighten with 120 Nm torque

g Mount with M12x35 (x8)
to the jib crane swivel head

N

Part 1. Truss pillar Part 2. AHC-80 jib crane
weight 75 kg or 80 kg weight 110 kg

T

Fix the outer arm along the inner arm with
straps or tape during assembly.

Installation
- Check the location to achieve maximum reach and function.
- Place the truss pillar on a flat surface.
- Mark and drill into the concrete for the M16 expansion bolts.
- Fasten the pillar, tighten with 120Nm torque.
- Place the folded jib crane on a forklift (possibly with one or more pallets)
- Raise the the jib crane to the top of the truss pillar.
- Mount it with 8 M12x35 bolts to the crane swivel head. Tighten with 80 Nm torque.
- Check that the crane is free to rotate 360 degrees.
- If the crane needs to be adjusted. Do it on the floor with shimming washers.
- Attach the gripper in the lifting wire and connect the air hoses and signal cable.
- Connect the power supply and compressed air.
- Set the control system parameters correct for the current gripper and use.




